ANSWERS AND SOLUTIONS

Therefore the range of the object
d=vt
=(25.0 m/s)(5.53 s)
=1.38x10* m

3. We are asked to find the vertical component.

Find ¢ from the horizontal component.

<

100 m

T 18.0mss
=5.56s

Vertical component

Vo % a d t
0 x 9.81 m/s® ?

5565 |

d=vyi+ Lo
2
= %(9.81 m/s*)(5.56 s)*
=152 m
4. We are asked to find the vertical component.

Find ¢ from the horizontal component.

_ 48.0m

" 20.0 m/s
=240s

Vertical component
Vo % a d t
0 | x |981ms®| ? 2.40's

d= vot+lat2
2

=%(9.81 m/s?)(2.40 s)?
=283 m

We are asked to find the vertical component.
Vo v a d t

0 x 9.81 m/s? ? 5.50's

1
d=vjt+—at’
2

= %(9.81 m/s*)(5.50 s)*
=148 m

a) We are asked to find he horizontal component.
d

t
vt

(20.0 m/s)(4.20 s)
=84.0m

v
d

b) Horizontal velocity = 20.0 m/s

Find final vertical velocity:
Vo v a d t
0 ? | 9.81 m/s? 420

_ Y=Y

i 42.1 m/s

P!

A\
= 2 2

Vr —,fvx +v,

=4/(20.0 m/s)* +(41.2 m/s)*
45.8 m/s

tan 6 = opP051te
adjacent

412 ms

20.0 m/s
0=64.1°

45.8 m/s 64.1°

Not for Reproduction

27

Physics 12 SNAP



